18, L phjntlphn,,

Junbyud 4

hwduyuph wjwugubing

rhy

2018p.
npnouwl

<UUU3LLh P3NFREN CUNUGND™ LUS A3NFRESUSPL CULUGNPh anrounuuuu by

SusStuuansuyuu auuuuwuNrauuu
2019 p.

(hwiqwn npwithnny)

Pjniobinw)hb dwiuubph gnpéwrwwl nwuwywngdwh

Swpbywh gaunywd wiwh

wyn pynud’
Puw- | lun wdhGbtnh, fudpbpp L nwukph, hGswbu Gwb pjniebnwihl
S ! | Ay | PUENOLERD, fudptinh L nwutiph, hGsuy pINLeGUWih PR LR
NN dha | dp dwifuutinh ninbuwghunwywl nwuwywngdwl (U7 +U.8) Juinswlwt | $nbnwiha
hnnjwébbph woywbnidbepp ' ' pjniok pjnLok
1 2 3 4 5 6 7 8
cuIUUGLE SUUuGP
00000 X | X | X (11nN2100+10nN2200+nNN 2300+ 2400+nnN 2500+Nhn 2600+ 615457,00 |590221,00| 25236,00
nnn2700+1nnn2800+1nnn2900+unnn 3000+1nnn3100)
cunduuntM puNE3eh <ULNPU3hL
2100 o1 | o | o ounusnt@e3ntuLe, 143542,1 | 1364688 | 7073,3
(1nnn2110+wnn2120+wnnn2130+unnn2140+nnn2150+nnn2160+nn 2170+
nnn2180)
win pyntd*
OptGhunpin b gnpdumfpin dupdhlGen, whbunwlwl Guewywpned,

2110 o1 | 1 | o [|PPOWhUqG L huplupmglnughl hupapbpnienGotp, 116676,9 | 7096036 | 7073,3
wpnuwphl hupwpbnngnGo6n 4 4 i
nnhg’

e R W A b R el BRI L 116676,9 | 109603,6 | 70733
wyn pYnLd dwhuutnh YEpdwlnudp’ pun pnigbinnuwghG dwiuutph
tnbuinGuwghunwlwl nuuwywpgiwl hnndwébsph
UzfuwinnnbBph wzfuwnwlwpdtip b hwybwdAwnltp 86 730,0 | 867300
Nwnglwwnpnidbbp npudwywi upwiuniunudbbp b hwanney 0.0 0.0
yawnlbtn : 2
Puwnwpwghwyl nwunwywl L weunwlwh dwrewinnbbph 7010.0 7010.0
wwnglwnpnid ' '

EOEpgEwnhY dwrwjnipnibibp 6 000,0 6 000,0 X
Yndntbwy wrwjnipnLbatn 500,0 500,0 X
Yuwiwh dwewjnipynibbtp 1576,0 1576,0 X
Uwwhnywgpuwlwt dwiuutp 100,0 100,0

Ukppht gnpéninniibbn 100,0 100,0 X
Upunwuwhdwbjwb gnpdninnuitbn 0,0 0,0

Hwpswyuwl dwewjnipntbbbn 150,0 150,0 X
CwiwyuwngswihG ownwjntRINLUGER 342,0 342,0 X
SenGlywinywlwh dwewjnipnibltn 175,6 175,6 X
LUbpYwjwgnigswlwb dwiuubp 200,0 200,0 X
Clnhwbnip pbnyph wy Swrwjnipnlbbp 200,0 200,0
Vwubwghwnwyuwb swrwjnuenibltn 100,0 100,0

ChOphph L wrentgltnh plpwghy tnpngnud b wwhwjwned 9300 930,0 X
UtptlLwatph b uwppwynpnudbtph pbpwghly Gnpngnd L 1300.0 1300.0 X
wwhuwwbnid ! !
Gpuublywywht bjniptn b hwgnuun 2 360,0 2 360,0 X
Spwluwnpuiwhb Ojnuekp 1300,0 1 300,0 X
Ublgwnuihl b hwipwyhb uGlnh Gnuetn 400,0 400,0 X
Zunntly buyjunwljuyhb Wynipkp 90,0 90,0 X
Uy hwpytn 0,0 0,0
Mwpunwnhp Yawnltn 40,0 40,0 X
Ctlptph L 2hGnipynibbtph Ywrnignid 0
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Pjnigtinwjhl swiuutph gnpéwrwywl nwuwyuwpguwl

wjn pynLd’

Pur- | funt wdhbOtph, fudpbph L nwubph, hbswbu Gwl pniebunwh
Snnh Ay | PUON0OENR, fudptinh L nwutiph, hasw pJnLY Ih D ikt
NN dhi | dp dwfuutiph nbwntuwghnwywl nwuwlwpgdwh (U7 +u.8) Jupswywt | $ninwiht
hnnywébenph woywOnidabpp 5 ’ pintgk pinigk
1 2 3 4 5 6 7 8
Colgtnh L 2hbnupnibGiph Yuwhuwg yepwnpngned 5145,0 X 5145,0
Jwnswywl uwppwynpnuibbp 1928,3 X 1928,3
Lwfuwgswhbunwagnuinwywt dwiuukn 0,0 X
2130| 0f 3 0 |Llhnhwlnip plnyph dweuymnipnblép 5 817,20 5817,2 0
nnphg' 0.0
2131 01 3 1 |Uzuwinwywqih /qunptph/ gény pbnhwanup pnyph 5 514,80 55148 0
wjn pynud dwiuubph ybpdwlnudp puwn pjnigbiinwhl dwiuubiph
UzfuwinnnGbph wpfuwnwyuwipdbn b hwybwdgwpotp 4 682,80 4682,8
EOEpgbinhy dwrewnipnutltn 200,0 200,0
Ununibuy Swnwympniliikp 30,0 30,0
Lwwh swrwjnienbbbnp 88,0 88,0
Upunughpunbuywuh dwhukp 420,0 420,0
Uwubwghinuljwl Swnuwnipniiitkp 54,0 54,0
gphlwljwl whinnyplbp 40,0 40,0
...................................................... 0.0
2433| 01 3 3 |QOnhwbnip pGnyph w)) Swewjnienibatn 3024 3024 0
wyn pYntld dwiuubph yepdwlnuip' puwn pjnigbuinwhb swiuubph
nbwnbuwghuinwluwl nwuwwpgdwb hnnywébbph 0,0
huwdwluwngswhl dwewjnipnibitn 302,4 302,4
nnhg’ 0.0
si0l o1 8 0 LanhwGnn pGnyph huwlnuyhG swewyniginiGaen (wy nwubnhl 21048,0 21048.0 0
Sujunnlyuiing)
nnha”
2161 01 6 1 Conhwnip pbnyph hwbpuwhG dwewjnupnibbn (w); nwubphl 21048,0 210480 0.0
suuinbwitinn )
wjn pyntd dwiuutph yepéwlnudp’ puwn pjnigtiunughb dwiuutph
nbunbuwahnwbwl nwuwbwngdwb hnndwélbph
Fwtiwht Swnwynipniiibp 0,0 0
Luwiwywpgswihb swewnipnibbbn 0,0
Stnbywwnyuwywb swewnipnlebbp 1040,0 1040,0 X
Yuwrwwpswywl swpwnipntalen 0,0 X
COnhwbnip plnuyph wy) dwewnipntbOen 4 100,0 4 100,0
Vwulwghunwyuwh dwruwnipnibotp 1955,0 19550 X
Zunnily bywunwluyhb ynupkp 700,0 700,0
UnipuhnhwGp ng-phlwbuwlut whnwywl
Yuwagiwybpwnipintbbenhl 82080 8208,0 %
Lyhpwuinynipntbbbp wy zwhnuyp shbnwwbnnn 2200 2200 X
Lwadwbbnwn pin00ERhG : :
Uy hwnytp 50,0 50,0 X
Nuwpuwnhp y8wpltn 47750 47750
2400 | 04 o 0 SusStUUUUL <UPuURGMPNHasNFuubn 12950 785.0 510,0
(1nnn2410+unnn2420+nnn2430+nnn 2440+nnn 2450+1nnn 2460+nnn 2470+
wn pynd’
o420 04 2 0 QurunquiiniwnbunigyniG, winweuyhl wGnbumpnd, 2850 285.0 0
dilnnunipiniG b npunpnnteintl
nnhg’
2421| 04 2 1 |9nuunbunbuntpinil 285,0 285,0 0
wyn pYnid dwiuubph yepdwbnidp’ puwn pyniebiunwhl dwiuutph
nOunbuwabirww0 nwuwbwngiw0 hnndwdthnh
UzfuwinnnOtnh wzfuwuinwywnadtp L hwybwydwpbbp 0,0
Chrthwlnp phnyph wy) Swnwynipnibibp 250,0 250
Vwulbwghunwyw dwrewjnipntabtn 35,0 350 ¥
2430| 04 3 0 |Ywrebihp b tobpgbuplw 610,0 100 510
nphg’
2432| 04 3 2 [Lwdpwiptng L plwlwl gug 610,0 100,0 510,0
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RjnLeGunnwihlb swiuutph gnpowrwywl nwuwywnpglwl

wyn pynu’
Rw- | funt wdhbbtph, fudpbph L nwubph, hOswbu Gwb pjneebunwiha
Snih Ay | PUENUGEDD, fudpbnh L nwutinh, hbsw RIMQHUMIING. ( oo it
NN dhi | dp dwhuubph nbwnbuwghunwlwo nwuwlywngdwb (U7 +u.8) Jupswlwt | dnGrwhl
hnnJwdébbph wojwOnidabpp ' ’ pjniok pjniek
1 2 3 4 5 6 7 8
wyn pynud dwiuukph Yepdwbnudp® pun pnietunwht gwiuutph
nlunbuwghunwywl nuuwlwngdwb hnnjwésbtph
Nupunughp Jdwpukp 100.0 100.0
Chlptph L 2hbnintbbEph Ywrnigned 510,0 X 510,0
Luwwgswhbunwgnuwlw swuubp 0,0 b
2450 04 5 0 |Spwiuwnpun 400,0 400 0,0
nnhg
2451 04 5 1 |Bwlwwwphwih0 tnpwbuwnpan © wjn pynid 400,0 400,0 0,0
Ctlptinh L 2hbnipynLbbtph pbewghy Yepwlnpngned 400,0 400,0
Chlptph L 2hbnuenbOtph Jurnignid 0,0
Chlptph L 2hbnipnLbbbnh Yuwhunwy yepwbnpngntd 0,0 b
Luwfuwgdwhbwnwgnuwlwb dwiuubp 0,0
chauuu uhaudusrh mucsmuunt@sntu
=249 i ’ 0 (1NN 25 10+nn2520+wnnn2530+unn2540+nnn2550+nnn2560) 78980,0 78980,0 0
win pynud’
2510 05 1 0 |UppwhwlGnd nnhg 70 980,0 70980,0 0
2511| 05 1 1 |Unpwhwbnud 70980,0 70980,0 0,0
wjn pUnwd dwiuutnh yapéwlbnuip’ puwn pynigbuiwiht dwhuutph
nlntuwahinwiw( pwuwywngdwl hnndwédlbnh
Ynintlw) dwrwjnipintibn 62 000,0 62 000,0 X
Zunnntl) hyunwlunhi wy ynoebp 200,0 200,0
Unipuhnhw 8 780,0 8 780,0
Chlptph L hGnupniabtph Yuwhunwy depwinpngntd 0,0 X
UsGgunn wywnhylen 0,0
- 8 0 Cnowliw dhowfwynh wuwpwnwwlnugine (wy nuubphl 8 000.0 8000 0
uputnlyuilnng)
nnhg"
seadl o5 6 5 |Cnewlw dhowyuwiph wwzwinwulnipnil (wj nuutpht 8 000.0 8 000.0 0
swjuwitnyuibing)
wyn pynLd dwiuubph yepdwlnudp’ pun pnigbunwihb dwiuutph
wniwunbuwghunwlwl nwuwwnpgdwb hnnduwsbbph
Undntbwy Swrwnipntblep 8 000,0 8 000,0 X
PLUYUNULUSPL ChuuruMNHE3NkL by YUNUNFLUL
2600 | 06 0 0 ounuante3Nku 17 580,0 15180,0 2400,0
(1NN 2610+Nnn2620+winn2630+nn2640+wnnn2650+u1nn2660)
win pyntd”
2610| 06 1 0 |Plwhuipwluyhl zhawnwnnig/nd 605,0 180,0 4250
nnhg’
2611 06 1 1 |ROwywpwiwhb 2hOwpwpnipnl 605,0 180,0 425,0
wyn pYnid swiuubph Yyepdwlnudp” pun pjnigtiinwhb dwiuukph
nontuwaghunwyw b nuwuwyuwpgdwb hnndwsébbeph
Chup phunipjnibikph phpwghl inpngnud 180,0 180,0
Chlptph L 2hbnuenubbEph uwrenigned 0,0 0,0
LwhuwgdwhbBunwgnuwlwl dwiuutn 4250 4250
2620| 06 2 0 |<wdwylpuyhl quipquignd 0,0 0 0,0
nnpg’
2631 06 3 1 [2pwidwinwyuwpuwnned- 0,0 0 0
wjn pyned dwiuubph yepdwlnudp’ puwn pjnigbinwihl dwiuubph
nbwnbuwghuinwyuwl nwuwlwngdwb hnnywaobbph
Chlbptph L 2p0nigntbbBph Ywenigned 0,0 N
Chup phumpimibiikph Yy huw) inpngnud 975,0 X 975,0
2640 06 4 0 | @rqnglliph (niuwidnpnid 16 000,0 15000,0 1000,0
nnhg’
2641 08 4 1 |@nnnglbph (niuwynpnud 16 000,0 15000,0 1000,0
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RnieGuinwjht swiuutph gnpowrwywl nuwywnguwl

wjn ;aqnla‘
Puw- | lunt wdhbbtph, fudpbph L nwubph, hbswbu Gwb pnegbnwihl
&hinh Auy | PHEhUbEnh, fudptnh L nwutinh, hGswy pinLgbunwih DGnwikap
NN dht | dp dwiuutph nlnbuwghunwywl nuwuwywngdwl (U7 +u.8) Jupswywt | $nbnught
hnnwdébbph waodwinidbbnp ' ' pjniLek pinLok
1 2 3 4 5 6 7 8
wyn pynLd dwiuutph yepdéwlnudp’ puwn piniebnwyht dwiuutnh
nOwnbuwghunwywl nuuwywpgiwb hnnJwdéleph
thEpgtinhy dwrwinipnibGbn 10 500,0 10 500,0 X
Chlptiph L Yuwenygltph plpwghy Gnpngnud b wwhwwanud 4 500,0 4 500,0 X
NMuwnpunuwnhp Y&wphbp
Chbptph L 2hbnignibbenh Jurnignud 0,0
Chlbptph L 2hGntpntbbEph Yuwhunw) yepwbnpngnud 0,0 p.d
Lwuwgdwhbinwgnuwlwl dwiuuknp 1000,0 1000,0
<ULahuUs, UtUunksm 64 uNrnu
" i 0 . (1nnn2810+uNnn2820+wnn2830+unn2840+nnn2850+wnnn2860) 25751,1 20633,1 5118,0
win punid’
2810| 08 1 0 |Swihquinh b uynpunf dwrwynigpmGGEn 6 168,0 1050,0 5118,0
nnha”
2811| 08 1 1 [Swlgunh L uynpinh GwRwynLeNLGaER 6 168,0 1050,0 5118,0
wyn pynLd dwiuubph yepdwlnudp’ puwn pjniebunwhb dwiuubph
nbunbuwghuinwywb nwuwlwpgdwb hnndwébbph
Spuukiyuluyhb hnipbp 30,0 30,0 X
Cwunniy Guyuinwyuyghl wyg Gniptn 220,0 220
Hnpwywl dawynypwihl L uynpuwiht Gujwunltn pniethg 800,0 800,0
Ldhpwinynipintbbbn w)) pwhnyp shbwnwwlnnn 00 0.0
YwgiwlepwnLeintblenhl ' '
Mwpuwnhp Y&wnatn 0,0 0,0
Chlp phumpnitibbiph Junngnul 5118,0 X 5118,0
Celhptnh L ghOnipntbbbph Yuwhinw yspwinpngnid 0,0 0,0
Lwfuwgswhbunwgnuwywl dwhuubp 0,0 X
2820 08 2 0 |Yzwlhnipuyhl SwewynipnGaGn 19 583,1 19583, 1 0,0
nnhg’
2821 08 2 1 |9pwnwnwbotp 10 865,0 10865,0 0,0
wyn pyntd dwiuubph yepdwniip' puwn pjntebunwhb dwhuukph
nlunbuwghunwlwl nuuwyuwpgiwb hnndwdébbph
COnhwbnip plnyph wy| dwrwjnientbbbn 0,0 X
Untpuhnhwip ng-phiwbuwlub whunwwl
g dertimsrenm it 10 865,0 10 865,0
2822 08 2 2 |[Pwlgquwpwibbp L gnigwupwhObn 0,0 0
wjn pyntd dwiuutph yepdwbnudp” pun piniebiinwihb dwfuutnh
niwunbuwghunwywl nwuwywpgiwb hnnwsbeph
...................................................... 0,0
2823| 08 2 3 |Yawynyph wnbtp, wyniipltip, Ysbnpnobtn 19381 1938,1 0,0
w)n pyYnLd dwiuutbph yepdwlnidp’ pun pynigbuinwihl dwiuutnh
niwnbuwghunwlywt nuwuwywpadwb hnndwésbeph
Unipuhnhwlbp ng-phlwbuwlub wewnwywl
UwglwlbnwnLpnbEph T 5o &
Uy depEOwbbn L uwppwynpnidbbp 0,0 X
2824| 08 2 4 Wi dowynipuyhlG yugdwyEnwnipinibatn 6 780,0 6780,0 0
wyn pynid swiuubph yepdwanidp® puwn pnugbiinwhb dwfuutnh
unbunbuwghunwywl nwuwywnguiwd hnnywdbbph
COnhwbnip pnyph w)| Swewynipntbbanp 59800 5980,0
Lwunny owwunwbwihG wy Ginuebp 650,0 650,0
Mpwhinunud dpwlnyph phwquijunnud 150,0 150
UreNH3I3NHL
2900 | 09 0 0 [ (nnn2810+nn2920+nn2930+1nnn2940+nnn2950+nnn2960+nnn2970+ | 311 542,1 | 3014074 | 101347
Lnnn2980)
win pyned’
2910 o9 1 0 LwifuwnunngulywG b inwppurpuG pGnhwGnn Yppnggndd 2117208 2117208 0.0

15




PjntgGunw)hl dwiuutph gnpdwrwywl nwuwywngawb

wyn, punu’
Puw- | lunt wdhbbbnh, fudpbph L nwubph, hbswbu Gwl pjnigbunwhl
Snnh Ay | PUENUGENR, fudpbnh L nwutinh, hisw RinLetnwjh DG
dha | dp Swhuubph ntnbuwghnwlwl nwuwywngdwl Jupswywl | $ninwht
NN (u.7 +u.8)
hnnwdébbnph wojwanuibbpp piniok pjniek
1 2 3 4 5 6 7 8
nnhg’
2911| 09 1 1 |Lwhiwnupngwlwl Yppnipnid 2117208 | 2117208 0,0
wyn pyntd dwhuutph Yepdwbnudp” pun pynigbinwiht gwhuutph
nlunbuwghunwywi nuuwlwpgiwl hnndwsttph
Untpuhnhwbbp ng-phiwbuwyub whnwywi
g dilbpurE Rt atphe 2117208 | 211720,8 X
Chlptph L 2hbnignibteph Ywwhuw| yepwbnpngnid 00 X
wyn pyntd dwuutph yepéwlnuip’ puwn pnigbinwhb dwiuutnh
inbunGuwghunwywb nuuwywpgiwb hnnywébeph
...................................................... 0,0
gezi| o | 2 | o |MORIEEREPFOIRRUUTD YrpaIEIL 250,0 250,0 0
nphg’
2921 09 2 1 [£hd0wywh plnhwbney Yppnipjnil 0,0 0 0
w)n pUNLY swfuubph Jtndwlnudp® puwn pntgbuinwhb dwiuutph
nintuwghuinwyw b nwuwlwpgdwb hnnywélEph
Uy Gujwunbtn pjnigtihg 0,0 0
2922| 09 2 2 [Uhebwlwng(iphy) plnhwanip Ynenip)ntl 250,0 250,0 0
wjn pynd dwiuubph ybapéwlnudp” puwn pjnugbiinwhlb dwiuubph
nbunbuwghnwywl nuuwluwpgdwb hnnywsbEph
)| Owwuinbbn pynietihg 250,0 250,0 X
2950 09 5 0 |Puwn duwluwpnuwllbph snwuulupgynn YppnigntG 89 436,6 89436,6 0
nphg’
2051 09 5 1 [Ununwnuypnguwywl nwunhwpuyniend 89 436,6 89436,6 0
w)n pUnLd dwiuutph yenpdwlnidp” puwn pintebunwht swiuutph
nbunbuwghunwywl nuuwwngiwb hnnwdbbph
Unipuhnhwlbp ng-phbwbuwuwl whnwyuwl 89 436.,6 89 436,6 X
Lwuwgdwhbunwgnnww dwhuutp 0,0 X
2980 09 8 0 | Yppnipintl (wy nuwbphl suywnluilng) 10 134,7 0 101347
nnhg'
2981| 09 8 1 |Yppnipintl (wy| nwubiphl suwunlywbnn) 10 134,7 0,0 10134,7
w)n pynd dwhuutph yepdwlnudp® puwn pintgbiuinwhb dwiuutnh 0.0
ninbuwghunwlwl nuuwywnpgiwl hnnywdébbph :
TMupuunhp &wpibp 0,0
Unpwlw dawynypwihb b uynpuniwiho GwwuinGbn pinipbhg 0.0 0.0
Calptph b 2hbnupynibbEph Yuwhinwy Yepwinpngntd 10 134,7 X 10134,7
LuwuwgdwhGunwgnuwywb dwiuutn 0,0 X
unshuLu4uL mucsauuLNtB3NtLU
3000 | 10 0 0 | (1nnn3010+nn3020+nn3030+nnn3040+nn3050+nn3060+nn 3070+ 5000,0 5000,0 0
1nnn3080+hnn 3090)
win pynid’
Ungfupwilpw s huninnty wipunnanegineGoGn (wyy nwubnho
3070| 10 7 0 supunnlputng) 5000,0 5000,0 0
nnha’
3071 10 7 1 Unghwjwluw hwwnniy wpunnbnueyntbbtp (w)| nuutph 5 000.0 5000,0 0
swwiinywbnn)
wyn pyned dwiuubph yenéwbnudp' puwn pjniebuinwhb dwiuubph
nbwnbuwghuinwluwb nwuwywpgdwb hnndwaotbph
Zninwpywynnnueiwl Gwwuwnbhbp pjnigtihg 1 000,0 1000,0 X
Uji Gujwunbtp pynigtihg 4 000,0 4 000,0 X
Ldhpwuindnipntbbbp wy) 2whnyp shbnwwlnnn 00 0.0
Juwgdwyepwnieintblephl ' '
3100 i1 0 0 <{hULUYUL AUGhLLENPL 29UUdNN MULNFUSUShL 31766.7 317667 0.0
dINULIGN (hnn3110)
win pynid’
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RinteGunwhl swiuutph gnpowrwywl nwuwywnpgawb wn Iaqnl:a‘
- G 1]
St Pw- | unt i pwdhbOGph, ludpbph L nwubph, hoswtu Gwl pjnigbunwih DGnwokap
NN dht | dp Swiuubph nbnbuwghunwlwl nwuwywngdwl (07 S0 duipswlw@ | $nbnwjh
hnnwdébbph wojwbnuibspp ' ' pjnigt pjnLot
1 2 3 5 6 Vi 8
3110 11 1 < Gunwfwnnipiul b hwduwyGpbbnh wwhniuwnwghl pnln 31766.70 31766.7 0.0
nnpg’
3qig| 1 1 <<€ hwidw)Oplbph wwhniuneht pnln 31766,7 | 317667 0,0
wyn pyntd swiuubph ybpdwlnidp® puwn pineetitnwht dwiuukph
nbwnbuwghnwywl nwuwyuwpgiwb hnnuwaobbph
Nwhniuwnwht dhengltn 31766,7 31766,7 0,0
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